TR K 22 B s o't B 22 A5 20245 AK 2 L b 5T 170 202658 I Jigi HE b A2 22 T HH IS 80T 28 1 e 5 %

NE T2 WNAER N E 78R

75 A AT B 57 44 FR RS Ik &R HLIE kg | £EANEHR

1 DRI 2 g e B 22 A FIHIEX BE 186445503 79 =
2 RN MR S 2 g T 137#%k%4051 76 2
3 RIS = it 8 e P 22 8 B X 1983k4%5839 76 =
4 RN MR S 2 g EE 150446818 75 2
5 DRI 2 BB W 2k FHiEX FiiE 137%k%%1167 64 2
6 RN MR S 2 HIHEX KAS 155%%:k3769 58 5
7 RIS = it @ e P 22 8 INFENL b= 1895542672 84 2
8 RN MR S B 2 INFEX X 13849311 80 2
9 RIS = Pt 8 e P 22 8 INFEL E8E 182:k4%8139 78 =
10 RN MR S 2 INFEX FEERHA 182440710 77 2
11 RIS = it 8 e B 22 8 INFEL pE=1a 136544990 73 =
12 RN MR S 2 INFEX BFE 15845539 72 2
13 TR 2B E O W 2% INFIBYL EES 5 181 #k4%3994 68 &
14 RN MR S 2 INFEY BEiEE 136Kk 1615 67 5
15 RIS = it 8 e B 22 8 INFIEX BRIk 181 %#k%3459 63 %
16 RN MR S 2 INFEYL 1§77 1373%:4k8503 55 5
17 RIS = it )8 e P 22 8 INFEN =M 13434521 4 47 75
18 RN MR S 2 s HiBE 176450106 72 2
19 RIS = it @ e P 22 8 FEE YN 18846309 71 =
20 RN R S 2 s kA 15745452342 64 2
21 RIS = Pt @ e P 22 8 IS RBE 132552923 61 &
22 RN MR S B2 s Bt 1988980 60 2
23 RIS = it 8 e P 22 5 hEE [RELE 150449304 47 75
24 RN MR S 2 IhEE iR 198kk:k2028 44 5
25 RIS = it @ e P 22 5 IS Ewas 13655446706 38 %
26 RN MR B 2 INFHE fEEE 137450766 71 2
27 RIS = it @ e P 22 8 INERE SRERIA 151 %0225 66 B2
28 RN MR S 2 IS BEIR 151%k4%1369 94 2
29 RIS = it @ e P 22 PIENS B 18844089 92.5 2=
30 RN MR S 2 IS XUHEA 176448707 91.5 2
31 DRI 2 g e B 22 A IFSE Z=EH0 156540313 88.5 =
32 RN MR S 2 IS Z=ERRIA 13845583 88 2
33 RIS = it & e P 22 PIRENS BN 18852003 85 2=
34 RN MR S 2 HhzE 2= 186%+:k1819 84.5 5
35 RIS = Pt 8 e B 22 PIRENS FokE 1365554132 80 %
36 RN MR S B 2 HhzE e 130%k:k2247 76.5 5
37 DRI 2 g e B 2 A INFTHE B0 14 7k4%0984 96 =
38 RN MR S 2 INFTEE (D] 15157060 91 2
39 RN 2B R W 2k MhEESiEe | ER 14755455325 86 i
40 RN MR S 2 VHEEsSEe ki) 1524545089 84 2
41 RIS = Pt 8 e P 22 5 vhEESLe | ARE 150%%%%3301 82 3
42 RN MR S 2 mhEESke | FE- 13943557 80 5
43 TR 2B E O W 2% MhEESiEe | B 1383547709 78 %
44 RN MR S 2 mHEESke | wHEN 173%%:4k3950 78 5
45 TR 2B E O W 2% MhEESEe | HNE 1875#5%5997 72 &
46 RN MR S 2 MHEESEe || BKER 159%%:k2875 70 5
47 RIS = it )8 e P 22 8 vhEESLe | I5E 17345790 70 7
48 RN MR S 2 VHEESke | WS 1 773%k7947 70 5
49 RIS = it )8 e P 22 8 Pkt RS 1523546399 96 =
50 RN MR S 2 Ik LTIN 188#k#x1382 89 2
51 RIS = Pt )8 e P 22 8 Pkt NI 181%%%%2912 85 £
52 RN MR S 2 s [z 177%k7711 84 5
53 RIS = it )8 e P 22 8 Pkt BB 1565543056 73 %
54 RN MR S 2 ¥ rhitbE SIS 18842608 94 2
55 RIS = it )8 e P 22 8 )b IE H¥ 1535457475 92 2=




56 RN MR S 2 ¥ rhitbE EE 18846043 92 2
57 TR 2= BB W 2k Ik s RIEE 1505441566 84 7
58 RN MR S 2 HhithIE EEAR 156%%:k6208 78 5
59 RIS = it 8 e P 22 8 H)FitbIE RIS 19 13k 1592 78 75
60 RN MR S 2 FppEE iR18JL 1774547965 89 2
61 RIS = it @ e P 22 8 MR HEEER 187skkk7365 81 &
62 RN MR S B 2 FppEE BRMIING 13843139 71 2
63 RIS = Pt 8 e P 22 8 WY IS 15658185 94 &
64 RN MR S 2 PIRES) XSS 136456299 92 2
65 RIS = it 8 e B 22 8 IR EiIES 152sk4:4103 91 &
66 RN MR S 2 LY FRIEE 1 773%%k1 285 89 5
67 RIS = Pt Jm e P 22 8 by FEE 186%+%%9021 88 o
68 RN MR S 2 FEY BEH 138kkek5477 87 5
69 TR 2= BB 2k FNEER Pkt 183%#%%9997 86 =
70 RN MR S 2 FINEFR RIFIR 152441896 83.5 2
71 RIS = it )8 e P 22 8 U NEER ZER 176%%%%2945 83 =
72 RN MR S 2 FNFEER XUFH 188tk 1311 82.5 5
73 DRI 2B R W 2k FINEER WER 18854993 81 &
74 RN MR S 2 FINFEER FIZRER 1897296 80.5 5
75 RIS = it g e P 22 U NEER B 198sk4%9361 80.5 %
76 RN MR S B2 FNFEER [ 138k 1305 79 5
77 RIS = it 8 e P 22 5 U NEER SRS 1374542269 79 %
78 RN MR B 2 FINFER FINER 130%kk4831 77.5 5
79 RIS = it @ e P 22 5 FINEER FRMER 1354841039 77 o
80 RN MR B 2 FINFER ST 1996504 77 5
81 RIS = it @ e P 22 8 U NEER 7EER 15950775 76.5 %
82 RN MR S 2 FINFER BRI 185%%:k7493 74.5 5
83 RIS = it @ e P 22 FINEER A 150%4£3916 72 7o
84 RN MR S 2 FINFER el 13232002 70 5
85 RIS = Pt @ e P 22 5 U NEER Rit=F 151%%%%3510 70 %
86 RN MR S 2 FINFER T 151 kk0k7824 67.5 5
87 RIS = it & e P 22 FUNFEEER IS 1883716 67 75
88 RN MR S 2 FINFER ZEERRK, 137347001 55.5 5
89 RIS = it g e B 22 8 R/ NEER AR 150sk4%7304 53.5 %
90 RN MR S B 2 FINEERE 250 186%k#x1819 87 2
91 RIS = Pt 8 e P 22 8 /NI BER 157 k49815 77 =
92 RN MR S 2 FINEERE BN 186449631 74 2
93 RIS = Pt 8 e P 22 5 FNERE EIGS 176%#%%1524 73 2
94 RN MR S 2 FINEERE =5 13944033 73 2
95 RIS = Pt 8 e P 22 5 FINERE B= 187#k4%2619 72 =
96 RN MR S 2 FINEERE FR=E 15849755 71 2
97 DRI 2 g e B 22 A NI RS 15543603 70 =
98 RN MR S 2 FINEERE Tt 17345852047 70 2
99 TR 2B E O W 2% FUNEAE XUl 198%%#%0795 69 %
100 RN MR S 2 FNERE X8 136%+:k8177 69 5
101 RIS = it )8 e P 22 8 FNERE XBEK 159345080 69 75
102 RN MR S 2 FNERE BEE 198kk:k6245 68 5
103 ERIIK B R e B 22 NI EXRE 1515548705 67 %
104 RN MR S 2 FNERE Mz 133s%k:k4857 67 5
105 TRYINK 2= BB 2 NI HKE 1980866 67 %
106 RN MR S B 2 FNERE EEois 173%%:£9887 67 5
107 RIS = Pt 8 e P 22 5 NI Rk 158%%%%1966 65 o
108 RN MR B 2 FNERE EUNES 156%%:k6944 65 5
109 ERIIK Bt R e B 24 NI SKRRET 186443876 65 %
110 RN MR S B2 FNERE BAE 132340938 64 5
111 RIS = it g e P 22 FNERE XA 15950743 64 75
112 RN MR S 2 FNERE p— 186%k:k6513 64 5
113 RIS = it )8 e P 22 8 FNERT RBELE 186%#%%2870 64 o
114 RN MR S 2 FNERE FLEs 1 75%%:k7847 63 5




115 RN MR S 2 FNERE *BEMS 155%%:k783 1 62 5
116 TR 2= BB W 2k FUNEAE IRIERR 153%k%%7902 62 &
117 RN MR S 2 FNERE BHEE 151%4k5655 62 5
118 DRI 2 BB W 2k FUNREAE EBAis 1345551150 61 &
119 RN MR S 2 FNERE ZiE 135%%:k4890 61 5
120 RIS = it @ e P 22 8 FNERE BB 15845589 61 &
121 RN MR S B 2 FNERE ES 135%%:k4279 61 5
122 RIS = Pt 8 e P 22 8 FNERE ESLWGS] 186%kk6621 60 7o
123 RN MR S 2 FNERE b 166%+4k7735 59 5
124 TR 2= BB 2k NI Tz 173%%k%2317 59 %
125 RN MR S 2 FNERE SeEE 189s%:k3556 59 5
126 RIS = Pt Jm e P 22 8 FNERE HES 1890603 58 %
127 RN MR S 2 FNERE Bt 1843%%:k5799 58 5
128 RIS = it 8 e B 22 8 FNERE BE 185%#kk3961 57 75
129 RN MR S 2 FNERE REL 158%+:k3199 57 5
130 RIS = it )8 e P 22 8 FINERE VAT 155%k%%2235 57 o
131 RN MR S 2 FNERE IRiEE 135%%:k7082 56 5
132 ERIIK Bt & e B 22 NI ME= 152%%%%6610 56 %
133 RN MR S 2 FINERE ZEHIED 178%%:k5156 56 5
134 RIS = it g e P 22 FINERE BitF 166%5%%8295 56 o
135 RN MR S B2 FNERE B 147%%k6696 54 5
136 RN Bt R e B 22 NI ZES 151 %%k 1227 54 7o
137 RN MR B 2 FNERE FigE 153%k:k5446 54 5
138 RIS = it @ e P 22 5 FINERE W= 176%5+%1533 53 o
139 RN MR B 2 FNERE Bt 136%+:k0248 52 5
140 RIS = it @ e P 22 8 FNERT FFHR 1523%5%%0179 50 5
141 RN MR S 2 FNERE FRE 135%%:0908 49 5
142 RIS = it @ e P 22 /NI BEE 1843543160 48 7o
143 RN MR S 2 FNERE KER 183s%%:k7579 46 5
144 DRI 2= BB W 2k /NI FE 1823548570 45 7o
145 RN MR S 2 FNERE 5 180%%:k6520 45 5
146 DRI 2 BB W A% FINERE iR 185%k%%2405 44 i
147 RN MR S 2 FNERE ey 182s%:k8130 44 5
148 TR 2B R W 2k RNFESER BERAAR 1354541815 71 3
149 RN MR S B 2 FINEER KER 173459324 68.5 2
150 RIS = Pt 8 e P 22 8 RNFESER BFE 166%k%%x2441 65.5 2
151 RN MR S 2 FNFESER 4RI 188kk:k6603 61.5 5
152 RIS = Pt 8 e P 22 5 F/NFZEAR SKSZRR 156%5%%4906 61.5 o
153 RN MR S 2 FNFESER BT 181%:k5989 60 5
154 RIS = Pt 8 e P 22 5 F/NFZEAR B 18746021 56 75
155 RN MR S 2 FNFESER SR, 135%%:k5186 51 5




